
Here are Maria’s answers to the test.
(Choose the larger decimal)
Double click on the yellow notes for her reasons.

                                                                                                                           ©University of Melbourne
                                     Developed as part of the ‘Teaching and Learning about Decimal Numbers’ project.

a 3.4 2.79         √

b 0.7 0.29         √

c 5.728 5.94         √

d 1.813 1.72         √

e 2.2 2.35         √

f 3.05 3.4           √

g 6.29 6.293      X

h 0.65 0.69         √

i 1.541 1.538       √

j 0.04 0.7           √

Both are $6.29.
I guess the shorter one.

$1.54 is more than $1.53


